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Lo TR E e A ATRE R £?
(A) TANOMO (B) T2N2MO (C) T2NIM1 (D) TIN3MO
2. BHBEEASRFTALORAL:
A%z (B)#x i@ (C)sf 1% D) B iS4
3. BRWHRBEMEHGSETL
(A)FT A%, B)F# (C)ri (DB,
4 THAMBREIAE Resliirs ey ?
AMEEBRELNLEE =M B U g BHELRESZHARRETF
O ZERAFTREZLREF DO)RELOBBRARBROBE > FB ST L
5. TFHfT#EAE#E Fo Epstien-Barr 5 & B s &0 9
INEXE (B) Hodgkin’s # &7
(C) 89 T/NK 4o itk 255 (D) 3 3% A % #(Mycosis fungoides)
6. B WIREBRTRENBBEARL
(A) p53 (B) KRAS (C) EGFR (D) ERBB2
7. Zollinger-Ellison jz 12 #£ 2 B & 4 BIRETEPTIE AR o
(AYE #%(gastrin) (B) # #& - (glucagon) (C) &% 4 % (somatostatin) (D) & & % (cortisol)
8. TIMTE LA tafaRER R € » it F A % & (alpha-fetoprotein) ?
(A)#% 42 B8, (seminoma) (B)A2 B4 #= B8, J% (embryonal carcinoma)
(C)8r 7 F 7 (yolk sac tumor) (D)#% % B 7% (Choriocarcinoma)
9. 5L &9 1 % 7% (lobular carcinoma) % £ /746 % & & 318, thf &k 9
(A) Cytokeratin (B) E-cadherin (C) Alpha-catenin (D) Beta-catenin
10. FHETEREZMBEBLETHFEFRF?
(A) 40-60 2, B)ktE (83): %23 (D)5 stk g5 75
WL TR A B Rk Ao BB A B 6 M2
(A) Helicobacter pylori (B) Pseudomonas aeruginosa
(©) Clostridium difficile (D) Legionella pneumonia
12, ARBOVEEFAREUTRF BT
(AyEEte g % BYEib i (O)fk e F ey Bl 8% B & 5 85 Bx D)E%dELE ik
13, TFRMTFERE G Ao ts BEVESE S A B ©
(A)AF ]~ tm B 2 (B) F #k A2 Oz Dy&E &
14, A &) 3 Ry (urticarial) & B 7 % % R i 80 R & ?
(A)E—# B)F = Or=a O)Ewm#
15, #ARCRROEAMTER G L REEIE ?
(A) Fibronectin (B) Integrin (C) Collagen (D) Selectin
16. RUEFRTABYARAT?
(AT B = B 7 (BYAT tm B 72 OmEE & (D)W
17 BEREAB—BLEBB I ? :
AME+=fxen B)E+tRfew OF+ e D)F =+ -k ea
18. ik & K A /8 (Kaposi sarcoma)fo fT#85 & B 2 4 B ©
(A) polyoma virus (B) Human herpes virus 8 (C) adenovirus type 71 (D) picornavirus
19. t(1418) ¥ HREMEHRECE ? :
(A)/]- tm B R B9 (BYIE i Ptk €. O T#HEFLBHREE (D) Burkitt K &5
20, F FUTAE AT 8B4 A7 R & 4 A7 42 75 82 (lysosome) ?
A)F—= BY#E =& ' O%=a D)YF m
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21, FrMTH R HEERET
(A)FEHRERALR G 045 B)F LB LRAE
OXRBERAEREZEFTRAE DBREERAL R B
22, FTIMIEARIBROBEZREN?
(A K7 (B) A B 7 (&) W:(4 (D) A B B A 41t
23, FHEF O MERGEABE?
(A)s (B)A¥ (C)ss D)k
24, FPRAFGIRG A FEMSLE EKE
(A) Takayosu S5k £ (B)#& & 1 % $y Ak X (polyarteritis nodosa)
(C) Kawasaki K, /& (D) Graves K&
25, F 345 T sAE B 4Lk & B 42 (anti-basement membrane antibody) 7
(A) Wegener B ¥ A% % (Wegener granulomatosis) (B) Goodpasture % 1% 8%
(C) Churg~Strauss JE 1% 2% (D) Henoch-Schonlein % g%
26.  Which one is not the typical feature of apoptosis?
(A) chromatin condensation (B) cytoplasmic bleb (C) cell shrinkage
(D) cell swelling (E) phagocytosed by macrophage
27.  Which organelle(s) is/are with double membrane?
(A) mitochondria (B) autophagosome  (C) endosome (D) lysosome (E) Golgi complex
28.  Which description is wrong?
(A) An infaret in tissue is an area of ischemic necrosis caused by occlusion of the supplying vessel.
(B) The infarct in lung appears as “white infarction”.
(C) Testicular torsion sometimes causes venous occlusion to result in red infarction.
(D) Cardiogenic shock could lead to white infraction of heart.
29. Which description is wrong?
(A) Type I hypersensitivity is often due to immediate release of vasoactive amine from B cells.
(B) Systemic lupus erythematosus is a disease categorized as type 11l hypersensitivity.
(C) Contact dermatitis is a cell-mediated hypersensitivity caused by activated T lymphocytes.
(D) Breakdown of self-antigen tolerance of the immune system is the basis of autoimmune disease.
30. Extracellular deposition of amyloid could damage tissues. Which special stain can be used to show apple-
green birefringence in amyloid under polarized light?
(A) Hematoxylin & Eosin stain (B) Masson stain (C) Silver stain
(D) Congo red stain (E) Gomori-trichrome stain
31. Aquired immunodeficiency syndrome (AIDS) is a disease caused by HIV infection in:
(A) CD8+ T cells (B) macrophage (C)CD4+ Tecells (D) Bel-2+ B cells (E) dendritic cells
32. Both chickenpox rash and shingles are caused by infection of:
(A) Cytomegalovirus (B) Herpes simplex virus 1 (C) Mumps virus
(D) Herpes simplex virus 2 (E) Varicella-zoster virus
33. Tuberculosis is a chronic pulmonary and system disease caused most by:
(A) Mycobacteria (B) Gram-positive bacilli (C)Yersinia pestis (D) Aspergillosus
34. The specific pathogen you answered in the question (33.) could be highlighted by:
(A) Gram stain (B) Acid-fast stain (C) PAS stain (D) Silver stain (E) Masson stain
35. Cor pulmonale results from:
(A) pulmonary hypotension (B) pulmonary hypertension
(C) pulmonary traumatic injury (D) pulmonary infection
36. Which congenital heart disease would cause right-to-left shunt and cyanosis in early life?
(A) atrial septal defect (ASD) (B) ventricular septal defect (VSD)
(C) patent ductus arteriosus (PDA) (D) tetralogy of Fallot (TOF)
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(A) nodular regenerative hyperplasia (B) small cell change (C) large cell change

(D) hepatocellular adenoma (E) low grade dysplastic nodule

Which is NOT the risk factor for gallstones?

(A) aging (B) oral contraceptives (C) obesity (D) biliary infection (E) chronic hepatitis
Loss of function mutation in PKD1 or PKD2 gene could lead to:

(A) medullary sponge kidney (B) renal cell carcinoma

(C) autosomal dominant polycystic disease (D) nephrosclerosis

The replacement of a glutamate residue with a valine residue at the 6™ codon of B -globin could result in:
(A) B thalassemias (B) sickle cell disease (C) « thalassemias (D) megaloblastic anemia

Pernicious anemia is caused by autoimmune gastritis that impairs the production of intrinsic factor, which
in turn affects the uptake of:

(A) vitamin Bz (B) iron (C)y Mg (D) folic acid
Which infection is frequently associated with nasopharyngeal carcinoma?

(A) Herpes virus (B) enterovirus (C)EBV (D) CMV
Chewing betel quid and paan is a major predisposing factor in Asia for:

(A) oral squamous cell carcinoma (B) aphthous ulcer

(C) periodontitis (D) nasopharyngeal carcinoma

Which description about HCV is INCORRECT?

(A) HCV genome codes for a single polyprotein that is processed into functional proteins.
(B) HCV is a double-stranded DNA virus.

(C) HCV RNA polymerase has low fidelity.

(D) HCV is inherently unstable and exists as quasispecies.

Which lesion is NOT the precursor lesion of hepatocellular carcinoma?

Which infection is highly associated with cervical intraepithelial neoplasia?
(A) HSV (B) HPV (C) CMV (DYEBV (E) HIV

Which description is WRONG?

(A) Lymphocytic thyroiditis often occurs after a pregnancy.

(B) Graves disease is the most common cause of endogenous hyperthyroidism.

(C) Hashimoto thyroiditis is the most common cause of hypothyroidism in regions where dietary iodine
levels are insufficient.

(D) ADH deficiency causes diabetes insipidus.

Which is not the contributing factor for osteoporosis ?

(A) aging (B) lack of physical activity (C) gender difference (D) insufficient Ca intake
Gout is a transient attack of acute arthritis initiated by crystallization of:

(A) calcium phosphate (B) monosodium urate

(C) glycerol (D) magnesium phosphate around the joint.

The most abundant cell type in the brain is:

(A) neuron (B) oligodendrocyte (C) ependymal cell (D) astrocyte
Which disease is not classified as neurodegenerative disease?

(A) Parkinson disease (B) Alzheimer disease (C) amyotrophic lateral sclerosis
(D) multiple sclerosis (E) frontotemporal dementia
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